A & 0l & AHSH Z Ml A
20243 =0l &k KIot=22| S22 X
S AT AISIA
A2 Kot 2 (ZELXAML/XALTAI)
oel: Kot Zel(Xistasl=SE ) (chol: &2l
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
Aot AN A 481,100 429,100 52,000
= 5,100
Al 476,000
Kot 2 166,500 429,100 A\262,600
== 5,100
Al 161,400
Kot 22l (XIst=2te| S L3 A) 166,500 429,100 262,600
< 5,100
Al 161,400
Not==0lSAEZAL & HS A&d=7 50,000 42,000 8,000
= 5,100
Al 44,900
207 H=1OH | 30,000 30,000 0
= 4,000
Al 26,000
01 A2EHHI 30,000 30,000 0
ORXlot=0lS & EH AL 30,000,000 30,000
s 4,000
Al 26,000
401 AlEHIZL SO 20,000 12,000 8,000
& 1,100
Al 18,900
01 Al£HI 20,000 12,000 8,000
OXIot=0ISAEHEAL X HB Fa=7
20,000,000& 20,000
= 1,100
Al 18,900
Aot 2tel 112,000 141,500 29,500
101 28| 26,000 0 26,000
04 JIZtHI2 2R SE =+ 26,000 0 26,000
OXlote HEE 1A 26,000,000 26,000
201 Zer2d| 35,000 30,000 5,000
01 At2teltl 25,000 20,000 5,000
oget=ZH| 25,000,000 25,000
02 =294l 10,000 10,000 0
OssR= € MA 10,000,000& 10,000
202 Ol 1,000 1,000
01 =Wl 1,000 1,000
OXlot=0|S&th HFE2
1,000,000& 1,000
401 AlEHIZL SO 50,000 110,500 260,500
01 Al£HI 50,000 110,500 260,500
oRx&=Y FAl2e 10,000,000& 10,000




SN BT AL
A2 Kot 2 (ZELXAML/XALTAI)
chol: XIst4 el (MstzelSEa ) (el mgl)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
| oxsHl ML 40,000, 0002 40,000
Aot Ool&t HS2el 4,500 245,600 A241,100
801 OilHl b 4,500 4,290 210
01 & EH0ilBIbI 4,500 4,290 210
oot 4,500,000 4,500
R s(4ot=ZA ) 314,600 0 314,600
LHEHHRIS (XIot=22| SE S| H) 314,600 0 314,600
WRHHXI= 314,600 0 314,600
706 JIEHHE 1 ch 314,598 0 314,598
03 Hg=s 314,598 0 314,598
OXlote=2te| HEs 314,598,000& 314,598
802 gtet=JIE 2 0
02 Al - THIEXSEtES 2 0
OAZHIEX= OIL Bty 2,0002 2






